
 
 

The 36 Club  (b) 
 
 
 

one squared 
 
= double 2 

 
= 4  x  3 

 
= how many ones in 5? 

 
= 

1  x  2 
 
= 2  x  3 

 
= treble 5 

 
= 5  x  7 

 
= 

28  ÷  7 
 
= 2  x  4 

 
= 18  ÷  3 

 
= how many 7s in 42 

 
= 

1  x  3 
 
= 2 times 5 

 
= 7  x  3 

 
= 7  x  7 

 
= 

six times six 
 
= 6  x  2 

 
= 1  x  4 

 
= how many 5s in 40? 

 
= 

six ones 
 
= half of 14 

 
= 5  x  4 

 
= 4  x  8 

 
= 

7  x  1 
 
= 3  x  3 

 
= double 8 

 
= 5  x  6 

 
= 

8 times 8 
 
= 8  x  1 

 
= 6  x  4 

 
= 3 lots of 8 

 
= 

4 times itself 
 
= 5  x  5 

 
= 6  x  8 

 
= 56 = 8 x what? 

 
= 

 


